' Sissybar
HIGHWAY HAWIK Honda VT1300CX

Uﬁf?/yy}ﬂﬂffrﬂ i AM

521-3046 521-2046 521-1046

Components

Bracket 2x
Bok M8 x 30 2x
Bok M8 x 40 2
2x
2%

-t

Spacer @18 x 13
Spacer @18 x 24
Washer M8

7 | Nut M8

[« S I N S B N

This accessory should be mounted by a professional mechanic only. Moto-Lux Specialties B.V.
MotoLlux Iinfernational B.V. / Highway Hawk can not he held responsible for improper instailation. Barneveld - The Netherlands




